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Chapter 4B Practice Test
Simplify (O 2t X x-4)
-2 x-3 x+1 -4 ” 3x2 _15x° —45x°
] — . -
%2 x'+3x-28 3x’+19x-14 > -4 x*+3x-10
X4 (B (k)

% (x-\-’:b(}ﬁﬁ
B2 AR A\ = (XE-AXAXH) HETD) \ZE (k=3
(Br- DO Vx4 a : '

| X*D
2 — AR+ 1O } e ’ \)
(3% DICAOE D) | DS
3 2x* +13x-7  9x-18 —\0 3 x5
" 3x® +12x-63 2x% +9x— 5 Zu | x+2 2 -dx-81L
(ax= T A2 e
Lo -5 (@) ==
AL > (XU ()
Hy~2%
- (RA2)
Solve for x o
<5. E 10 ) %D TR [y —1/”” R
x=5 '\J }55x+5 X+2 +3x+2 D X# -\
AN SN CM\“J‘&JZT \
3= 10x"20
S KO Xalx = DRED A D

)’\l-—’f)X"\D =0

(=) ¥2)= O



T
'x —7x+12 x =3 -4 )(':’D
(X-D(X-4)

=2¥—3+DO%x—\H
5 = IX-23
29 = TIx

e e o e m— S p————
—y

| nd soution )

8. You and your friend are making snowflakes for a fundraiser. You can make 7 snowflakes in 1 hour and your
friend can make 10 snowflakes in an hour, how many could you make together in 3 hours?
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9. Frank is going smmmmg in the river. He swam for 7 miles upstream and then 5 miles downstream. His rate
in standing water is 6mph.

a. Write an ecgatlon(for thf total time he spent swimming.
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10. Joanna wants to have a 70% made shot percentage in lacrosse in order to make Varsity. SheTs currently at 4
out of 9 shots. How many more shots would she have to make in a row to get to 70%?
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